
Time: 10 Minutes Paper Science 7 Total Marks: 10

1st Month, 3rd Week, 1st Day Syllabus: Unit # 1: importance of transpiration

to humidity + Point to ponder + informative

Q.No.1 Encircle the correct answer from the following choices. (0.5×6=3)


i. Generally stomata are remain closed at: 
(a) Day  (b) Noon  (c) Afternoon  (d) Night 
ii. The rate of transpiration decreases with the increase of:

 


(a) Temperature  (b) Light intensity 
(c) Humidity in air  (d) Wind speed 
iii. Which of the following does not affect the capillary action?

 
(a) Gravity  (b) Adhesive force  


(c) Cohesive force  

 (d) Both b and c  c  b

iv. The effect of evaportaion of water from the leaves is: 
(a) Control the temperature  (b) Do not help in growth 
(c) Hots the surface of leaves  (d) All of these 
v. Which factor does not affect the rate of transpiration?

 


(a) Force of gravity  (b) Temperature 
(c) Light  (d) Wind 
vi. Wind sweeps the humidity away from the leaves, ____ rate of

transpiration.  


(a) Deceases  (b) Increases  (c) Moderate  (d) Same 
Q.No.2. Write short answers. (224) 
(i) What are the effects of evaporation of water from leave?


(ii) How do stomata open? 
Q.No.3. Write long answer. (3) 
(i) Explain any three factors which affect the rate of transpiration.

 


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